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(9) 19 I -Terye I AT Tah, SUaw0l

(9) AT9 gt
TelIcTdh! PO Tgd gedt 3Mfor 78 Jreamelie 3R HISToIRATS! aroRdrd ?

9) Wl Tgat ) SRRae fsve= 9=

3) Iy ST ugeht 8) 3! Ul

Which of the following methods is used for measurement of distance between Earth and planets?
1) Parallax method 2) Direct distance measurement
3) Slope tapping method 4) Echo method

Weiietieh! Iurt GRETUER THTOT 31T 2

9) gARafege ?) B feId dlctehd]

3) APfdar 8) FERST T

Which of the following is a dimensionless quantity ?

1) Transmissivity 2) Hydraulic conductivity

3) Compressibility 4) Storage coefficient

QU Uik 90 =T febefl 2

q) & R) e 3) gaT 8) 3t
The prefix for the multiple 10'® is
1) tera 2) peta 3)exa 4) atto

TSI gl MR DT 3T 7

9) ? ?) 9% 3) 90 8) ¢
What is the base of decimal system ?
1)2 2) 16 3) 10 4) 8

Glofledeh! PIUrd) SR AISTUIRT 3TUTe Ted ATel?

q) Tpmgl R) 3femHIeR

3) Brepvriirci TRl g) eI gehi iR HISH

Which of the following is not an indirect method of measuring distances ?

1) Tacheometry 2) Odometer

3) Trigonometric Levelling 4) Electromagnetic Distance Measurement
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el 1T Tebep 3T et &l AR Frafc diepadlel Feprermelt et 9 Wepep Adt. SR JAUDBI, JATIRT
gl 3R ¢ iR @ 20 Ahad HUT ™A, TR AT T TR GF T geimeia iR
et 2

9) <0 Thdh ) 400 Thd 3) 9400 ThHdH 8) YEO Uhdh

Anew unit of length is chosen such that the speed of light in vacuum is unity. What is the distance

between the Sun and the Earth in terms of the new unit, if light takes 8 minutes and 20 seconds to
cover this distance?

1) 820 units 2) 500 units 3) 1500 units 4) 2460 units

THIAT Thds &l ... e faob T,

9) Hiex ?) dfeicR 3) fafester ) A1 3T ARIEpIIeR
Light unitis generally expressed in ..........

1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer

NUTET 3R 9 T 400 FAMICR SRIUIRAT RATST BRI TGO ?

q) eHATE R) Ifrged (AR AT

3) feres o 9t 8) TR DIV AT

What is the name of science that studies molecular size from 1 to 100 nanometer ?
1) Microscience 2) Nanoscience

3) Macroscience 4) None of these

Tefier faem framTa &

HIY T,

a) agaefierauer R TEar IR.

b) I 3Tl I 3Thall Q2.
C) 3T BRIATUET TRTell 3R Aehd T,

7 faymTdhT -
9) a, b 3T ¢ SRR 3M=d Q) a 3T b SIS 3T
3) b 3MfOr ¢ TR 31T ¥) a 3T ¢ SRISR 3T

Consider the following statements :

In a measuring instrument,

a) Linearity is more important than sensitivity.
b) High precision indicates high accuracy.

c¢) Accuracy can not be better than resolution.
Of these statements -

1) a, b and c are correct 2) aand b are correct
3) b and ¢ are correct 4) a and c are correct
SFgcdl AR ... areft et ST,

q) AT G fhar gRcTeAErTdT HisTol

R) STedleh SURAE QTG ATUH gra Histel ST 3RAeied] YHTUTEAT R HeATwRld g
3) Al T8 AR ST dqel

8) TETE SgHeeT 3cye fHaemed et aRuIrIS! sYcHtel agaTd Uik
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Accuracy is defined as the .............

1) Measure of the consistency or reproducibility of the measurement

2) Closeness with which an instrument reading approaches the true value of the quantity being
measured

3) Smallest measurable input change

4) Ratio of the change in the input to change in output signal of an instrument

ware Rigid Ay Agw@mar wEft geeT S ?

q) T YA Hifgdrar 9 TRl

R) TR ITHH g TGl

3) T PISITd TSV HIfgci T Faeienor e
¥) d Ie ARSI qT Bl

When is a theory considered as very important, according to the author ?
1) It does not contain experimental data

2) It changes the centre of science

3) It offers an explanation to perplexing data

4) It is accepted in the Royal Society

3) TV Uebeh

........ 2 89 ®H[ (solid angle) Thd IR

9) T ) TRfead 3) foilt ¥) AP P ATt
....... 1s the unit of solid angle.
1) Radian 2) Steradian 3) Degrees 4) None of the above

RUMET MR 9 T 400 FAMICR SRIUIRAT RATH] DRI TGO ?

9) GEHAARST R) JfgEd (AR ATt

3) faene avy e ¥) TP Pl ATer

What is the name of science that studies molecular size from 1 to 100 nanometer ?

1) Microscience 2) Nanoscience

3) Macroscience 4) None of these

THIAT Thds T ... e foob ST,

9) Hiex ?) wferer 3) ffosieR @) T N7 ARIEpIHICR
Light unitis generally expressed in ..........

1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer

JMAR-TRDIT IR & TB1T a¥ IT Uehepld HISTell ST, Uh Tehlel ay =

9) 9.8 X 90" m Q) R.8% X 90™m 3)30.¢8 X 90" m  ¥) 940 X 90° m
The inter-stellar distances are measured in light years. 1 light year =
1)1.4x 10" m 2)9.46 x 10 m 3)37.84 x 10" m 4) 150 X 108 m
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9 g WRUTRAT 3¢ U9 grvar UHIoT fobel) e ?

9) 1 mole/m? ?) 2 mole/m? 3) 11 mole/m? ¥) 22 mole/m?
What is the concentration of 36 g of water that fills 1 cubic metre?
1) 1 mole/m? 2) 2 mole/m? 3) 11 mole/m? 4) 22 mole/m?

IR Iy dTeciid, R Y AT Fetry Jferd Ul SMBRAFTAT Aufid AT

9) 0.009 T 0.09 fiHt ) 0.09 T qoo fdt
3) 900 T 9000 fHt ¥) 9000 T 000 At
In case of air pollution, particle size of cement dust and fly ash falls in the range of
1) 0.001 to 0.01 um 2) 0.01 to 100 wm
3) 100 to 1000 wm 4) 1000 to 2000 wm
3) WO Uahch
SI UHDHIT TIHD B ............. 3y gaffdet arme.
9) ferex (L) ) (M) far m3  3) QY (9) T (R) 8) AT Tl AT
The ST unit of volume is expressedas__
1) Litre (L) 2) (Meter)3 or m3 3) Both (1 and (2) 4) None of the above
TRAM JARARvrE. (diffusivity) T ... e,
1) cm?*/sec 2) kg/m.sec 3) N-m/sec? 4) IR T4
The unit of mass diffusivity is ..........
1) cm?/sec 2) kg/m.sec 3) N-m/sec? 4) All of the above
b SI YOGS T ... 3R,
9) 379gIThI R) I 3) 3 g) de
The ST unit of poweris ......
1) horse power (HP)  2) joule 3) erg 4) watt

saac @lee (Electron Volt) B ...........

q) favaioRm v Mg R) TRl Tebeh 38

3) faRgd e Topd 31m” 8) faegd IRt 3R
Electron Volt is the unit of

1) Potential difference 2) Energy

3) Electric Current 4) Electric Charge
fafere Isorcrr, <. S, . gonelidiel T ... g IMR.

q) DberisT /I ?) doxir /i f&ft Afeasrd
3) Dot el AfeasrT /iy 8) RITUDI DU AT
Unit of specific heat in C.G.S. system is

1) Callories/gram 2) Calories/gram®C

3) Calories °C/gram 4) None of these
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UPS &t Aol &l ... 9 HISTell ST,

9) de I Q) ded 3) 3ffIeR ) IffIeR-d™g
Capacity of UPS battery cell is measured in .............

1) Watt hours 2) Watts 3) Amperes 4) Ampere-hour
AT o ... I UhaIGR HISTelT TS5 2Tl

31) knots ¥) kmph &) mps $) mph

TITIh! DIV e SRISR 3R/ 3R ?

9) 37 Heh ?) ¥ %eh 3) 31, FAM P Beh  ¥) I T4
Wind speed may be noted with .....

a) knots b) kmph ¢) mps d) mph

Which of the above unit is/are correct ?

1) aonly 2) b only 3)a,band conly 4) All of the above
THT AT FRIYUTHAL ............... 9 TP JFe 3R

) THTE GSIH hretatd! Q) BT oS

3) ERIQUT TIgH o 8) 9 St el wieRTS e Harg

A unit hydrograph consists of one unit of ................

1) effective rainfall duration 2) peak discharge

3) hydrograph time base 4) direct runoff due to 1 cm effective rainfall

ST/ QG T ... 3R TR,

9) kWh )W 3) Wb/s 8) kWh/s
Joules/second is also called as .............

1) kWh 2)W 3) Wb/s 4) kWh/s
g IRA e b AT ... IRE 3Tg

9) TP e R) b HUTRIT

3) T g AU ¥) T i Hiex

One lumen per square meter is same as .............

1) One lux 2) One candle

3) One foot candle 4) One lumen meter

TR AT T THPBIGR ANTAT SIS 1.

31) knots ¥) kmph &) mps $) mph
I DIV Tebep SRITR TS/ 38 ?

9) 37 Hh ?) ¥ Beh 3) 3, MNP Beh ¥) IRA T4
Wind speed may be noted with .....

a) knots b) kmph ¢) mps d) mph
Which of the above unit is/are correct ?

1) aonly 2) b only 3)a,band conly 4) All of the above
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QAT HHMNATC! YaTadai T HHRIS! ... 1 T ar=ITET o SWh G Sl
9) y fodt /T ) 9o foHt/amT 3) 9y fodt/amT ¥) 20 foet/amT
The minimum wind speed of .......... is considered to be useful for working of windmills for
agricultural purpose.
1) 5 km/hr 2) 10 km/hr 3) 15 km/hr 4) 20 km/hr
¥) YR
............ T AR Do o] JSHETRIT J&H DU HISTell ST,
9) PHUTE X INRIARDIT R) STURHIR
3) IRIEIHICR 8) 3HIeR - cglecHicR
Skin surface micro-vibrations are measured using .............
1) Cathode Ray Oscilloscope 2) Interferometer
3) Piezometer 4) Ammeter-Voltmeter
FelgH &1 Tierd] BEHRT 310G dhelell fAWRT 3 ST ..o TS TR ST
q) SHIT GRE|S! Q) T HIeur 3) TETg desanr %) AT T
Flume is an artificially narrowed section of the channel which is used for ................
1) protecting the banks 2) removal of silt
3) diverting the flow 4) measuring the discharge

...... 2 Tl hicHIeRIT ST YUMeiT W17 31Tgd /ATgHd.

) TR ?) IAcImsR

3) SU g 3N i R ¥) IR

...... 1s/are NOT a part of emission system of a flame photometer.

1) Burner 2) Atomiser

3) Fuel gases and their regulation 4) Chopper

ARIRTHIERAT AR oo HISTUIRATG! el ST,

) FEERT R) arsdiHed 3) Srsdiva 8) 9T S
Lysimeter is used to measure ................

1) Infiltration 2) Evaporation

3) Evapotr anspiration 4) Vapour pressure

Aiferes el g 1 ASUIRATS! aToRvATT JUIRAT SYSRUIAT ST ATl
a) BT q i) SRyEer Hiex

b) T 9T i) R e

¢) Yhur e iii) sRHreR

d) 3marsT dgar iv) SR

g I :
1) (a)-(1), (b)-(i1), (c)-(ii), (d)-(iv) ?) (a)-(ii), (b)-(1), (c)-(ii), (d)-(iv)
3) (@)-(@iv), (b)-(iii), (¢)-(ii), (d)-(i) 8) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(1)

TERTE AU ARRY HaT gauRtet At : 9= fasm/ a¢
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Match the Physical quantities and the instruments used to measure it.

a) Air Pressure 1) Decibel meter

b) Wind Speed 11) Seismo meter

c¢) Intensity of Earthquake 111) Barometer

d) Intensity of Sound 1v) Anemometer

Answer options :

1) (a)-(1), (b)-(ii), (¢)-(ii), (d)-(iv) 2) (a)-(ii1), (b)-(1), (c)-(i1), (d)-(iv)

3) (a)-(iv), (b)-(iii), (¢)-(iD), (d)-(1) 4) (a)-(ii1), (b)-(iv), (c)-(i1), (d)-(1)
WSIGUT Proream Mt g RAmThGR Fet S 2

9) YhUT Yeh Q) U ST (CeaY)

3) AT 9% 8) Bd1 T

Which one of the following is recorded by Seismograph ?

1) Earthquake shocks 2) Rainfall percentage

3) Accurate time 4) Air pressure

fOsiIcR ... T A A

q) T IR R) ST e GRATOT

3) HIGl A T 8) TR b

A piezometer gives ..............

1) local atmospheric pressure 2) small magnitude of pressure

3) large vacuum pressure 4) total head

I AR fAfH=ur AU |IEE 37

9) RHex ) e Rex 3) gRIHIR ¥) URRfeTsNHeR
Direct Solar radiation measuring instrument is

1) Barometer 2) Sunshine reader 3) Hygrometer 4) Pyrheliometers
AT g9aT HaTg AISTINIG! aiRel SR 3 ... 3.

9) JeHR Q) EGRHIR 3) sifEEeR g) BT ATEr
The device used for measuring flow of air around an aeroplane is .............

1) Rotameter 2) Venturimeter 3) Anemometer 4) None of these

TERTE AU ARRY HaT gauRiet drt : 9= fasm/ 9]
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I : (9) AT Ugel-HelHd g WIfeIT Tehch, IUGRYI
(9) AT ggeit

-9 R-% 3-3 8-3 4- V- ¢—% R-R 90-9
99- QR-3

3) JAYd Teheh

- R-R 3-% 8- 4= &=

3) A1fd Uhep
9- -9 3-9 88— 4= &—9% V-9 -9 - 90-19
99-¥ 9-

Q- R-9Y 3-% 8-3 Y- &—9 v- ¢—% R-3
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